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Lupéslfbaphobia: The fear of being pursued by timber
wolves around a kitcheén table while wearing sacks ona
' newly waxed floor.’




Year End Review Notes and Practice

1. Number Systems
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2. Square Roots

Key words: square numbers, perfect squares, non-perfect
Squares, benchmarking

Find the square root of the following numbers-show
benchmarking to approximate the square root if it is not a
perfect square.

V49 L/\ 36 square root of 0 32
= Vel W3 51 Aok 'f’ “
7 : = ﬁ“?'& 05

B e
Express the square root of this perfect square as a fraction.




A square has an area of 5.76 cm?,
What is the side length of the square?
What is the perimeter?

A x4 = b em

) / /
A A
/51 /55 Jé1./66 /71 /71 /81 /88
4.0 7z uq 29l o 29 By
, T IR B 1
How many of the square roots shown above have a value that is between 7.8 and 8.8‘%\_\/”
’ ﬂaq

A 2 | | mfg/q
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, P b 70
What is the side length of the carpet shown above? e y/
A, Tm
@ fm
C. 5m
D. 4m’



The diagram shown below is # sygare and has 2 pecimeter of 8 om.
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' Wt is the tedal mres of the white rectangles and the black squares?
€4

Answer: &fﬁjﬂ , 3
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The square roets of two rational numbers are represented on the number line shown below.

f - e A .
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If @ is located between points P and R on the number line above, then which of
the following square roots cm@esent 7y
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The: squares of the grid below are identical, The arex of the shaded square on the gnd
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Numerical Respose

The perimeter of the grid shown above is 9 y units,

3. Surface Area Q_f Composite Shapes

The sum of the area of each of the surfaces of the object that make
up the composite object MINUS the overlap

Rectangle: A=lw  Circle: A=mr?  Triangle: A=bh  Cylinder: A= 2mr? + 2mrh
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The following shape needs to be painted. If one can of paint
covers 200em? and each can costs $12, how much will it cost to
paint the shape? (No need to paint the bottom.)
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The fq} Jowing 3-I object is composed of identical cubes. The volume of the 3-D object is
56 cm”,
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The surface area of the 3-D object above is " -; 0 ex RS
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A 3-D ohject mads of Z2emx 2om 27 om oubes is dipped In paint,

Elnpaioted Ohjict Painted Object
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' 1F the painted shject 5 separatad into individual euhes, then the totx] aesp of the anpaintid L r
swiefices will be . : ' : . 1,
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‘4. Powers and Exponent Laws . M

Kéy words: power, base, exponent
Exponent ~ Expanded Standard
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Multiplying Exponents
If you have like bases and you are multiplying, add exponents

Simplify each of the following:
34 x3° o (2 (- -2)3(-2) (9a??) (-3a*b)

7 2P —27a4b"

Dividing Exponents
If you are dividing like bases, subtract exponents

Simplify each of the following:

37 + 36 (2)* x (2)"+ (2)° [5")(53} 30-a5b403
P 2" 28 5%x5 - eab’c?
9 L
= c; ; ' $a ?C
e 5"” :

Power Raised to a Power
The exponent outside the brackets multlphes into the exponent |n3|de the

brackets
Simplify each of the following:

o e (@) (5
AN ) A A N X

..-——;3"’ -
3 ,,
Simplify then evaluate each expression: — Z}
@) . S . PxP D 42
834)3 3" =27 -2° + @
o . ‘

3! =9 | \=221
Base Ten NUmibers
Write 805 076 using powers of 10

Zx1of ¥ oxIO +FrI0 + bX 0’
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If (L:t:3f 2= x* = 144, then what is the whole number value of x7
X . .
- f BARVE B
Angwer: ))27 XP=x" =44 | 0
m Y X =

Which of the following expressions represents the addition of 7> and 77

A e FxF + FRFAF

B. (7+7)7%%3

TxD+TxTxD)

D, (T+Tyx{T+7+7)

34y, |
The expression (%;—) (nm X nz) can be simplified to the form #?,
The value of p is
A. 20
1
C. 14

D13

Which of the following sets of powers is arranged in order of increasing value from left
toright? S
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The Stmphﬁcanons of two different expressions are shown below,
Expression X . Expression Y
@ -4t x5 2+ 2%+ 59 x3
=30 4% 4 42 x (=57 .—@ -3
=729 - 256+ 16 x 25 =8+ (-23)x3
=729 - 256 + 400 =8+ (-75)
=873 = —67
v X

Which of the following statements about the simplifications above is true?

A, The simplifications of both expressions are correct.
B. The simplifications of both expressions are mcorrect.

The simplification of Expression X is correct and the snmpllhcatwn of Expressmn Y
is incorrect.

D, The simplification of Expression Y is correct and the sunpltﬁcanon of Etpsessmn X
is incomect.

Fach of the four stadents shown below simplifies the following exbmmion

| awdxseets@rdix . yHS—IE T4 X
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Stedent 1 Student 2 Stodent 3 Student 4
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Which student correctly simplified the expression?

A, Stdent1

(&) Student:2

C. Stdent3
D. Studentd



5. Rafional Numbers '

Place the following values on the number line. You can either
work in fractions or convert into decimals.
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Adding/Subtracting Rational Numbers

-find common denominator

-work in IMPROPER FRACTIONS it’s usually less confusing
-all answers should be changed into MIXED FRACTIONS if -
improper and all answers must be REDUCED!
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Multiplying/Dividing Rational Numbers

-change to improper if mixed
-for multiplication, multiply straight across
#or division, change the sign to multiplication and take the

reciprocal (flip) the fraction that follows )

Solve each of the following showing all work.

-5

2"[12} o 4 . o 3¢ &
Z x|z 2.4 3 2. 12
3) 35 22 775
P £ T w2 x5
s *5 e z 9 "%
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Evaluate the following (remember BEDMAS ruies)

1 -2 2 1
= S x-—— 5 -
14 [4+3}(3X 2] ;Tj - :;:_3 d
- —(“-,?;’- riN(# _30 oy

5 - A4 T =3
== — (% D >4 ) |
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L5 10,2 : ﬁ—atzﬁ—a_

= q P .
'Fhe tempergture at 4:00 pm was 2 °C. The temperature drops 1.3°%C

each hour. What will the temperature be at 11:00 pm?.. -
o = 7 howrd =9 :1-‘71‘] C i

Fx 1.3 = 9,) degrees Noyed

A scientific caleulator has 40 buttons, of Which:lt- are white, % are grey, and 4 are orange.

The rest of the buttons are black.

Numerical Response

L

How many black buttons does the calculator have? 1
L
4

Answer: lg 10 T & 3(?

| Y ern
Yo -22 =8 Bl A3 butns

L 40 = 10 whit

b1



Connie buys a horse for $750 {including GST). She considers the two payment plans shown
below, ' :

- Plan1  Pay $150 now and $25 each month
Plan2  Pay $200 now and $33 each month

How many fewer monthly payments could Connie make if she selects Plan 27
let n_be # mardbete pay

A 10 lﬁ_ﬂ?j
14 =
C? o L Fasn 2L 206 + 55N = PO
: - 0 200
D. 24 A& =600
[ = o
2Y-10 :«ﬁ | h =@ e ¥} rroriths

Patricia wants to buy a new pair of ice skates that cost $250 including GST. She already has
$86 she plans o use towards this purchase, She earns $10,25/hont at her part-time job,

Numerical Response

What is the minirmem number of hours that she must work to save encugh money to purchase

the pair of ice skafes? et =3 hsurd minimung
P B 16251 o oo
- & — %%
6 houcs 1625 = 14Y
ninim 1Br 5 Tt
=l

and a $5.00 base fee each month,

Emily’s cellphone plan charges her $0.05 per text message, $0.06 per minute of voice usage

What is Emily’s cellphone bill if she sent 33 text messages and talked for 47 minutes

in one month?

C A $s1 5 +25(0.05) + ¥7(0.%)
B. $6.65 ES )65 P52
C. $782 /_-,- ﬁ'?‘,q;/

$9.47 —

e
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6. Linear Relations
Keywords: linear relation interpolation extrapolation

Here a pattern made with tooth picks. The pattern continues

ANNAANNAAA

Figee 1 Fignre 2 Figure 3

Write an equation that relates the number of toothpicks, T, to the figure
number, n.

Figure # (n) Toothpicks (T)
] s .\,L,
¥ < %
; 5 )2
Y 7 T=Y4n+|
. Al
. How many toothpicks will be b. Which figure number
needed for figure 177 uses 213 _toothpicks?
T=H{PD+| 213 =4 n+l
T =(&8+] ' =1 C !
Find the pattern. K 7
x y §E=n
2 7
-1 4 5
0 1
1 2
2 -5




Graph the relationship.

y=3x-2
x y "
2 L’ El 1’
1 ) 2 ‘{I
0 ' '
-1 — st /.
o
/
i
J .

The 3 graphs below have these equations. Match each graph to the equation
which describes it:

p=3x+3 G—ra,‘oh C
x+y=3 G(‘af;h A y= X3
y=3x-3 Grogh B y=¢x-s

Graph A : Graph B Graph C
A A & if
4 h
i £
1
)]
{ £l
e < . - '
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iy ' L 1Y
&t 3
[ = A : 2
4 :
” 3
—2 10l |2 -3 ¢+ |0 2
2 -2
y=2Y) or X=2 y=-2 or (x=-2

INTERPOLATION: reading data INSIDE the graph between data points
EXTRAPOLATION: making predictions OUTSIDE the data pomts (this is
a prediction based on the current trends)

The graph shows how the cost of a long distance call changes with the
time for the call. '

a) Estimate the cost of a 7-min
call.

Is this interpolation or Cost of Long Distance Calls

extrapolation? Explain.

oY
(=]
=22

4?\0. GZ inderpolaihyone

i3]

%Beh)ce,n, ﬂwm date- Pm‘b

3

okt
N

b} The cost of a call was $1.00. W

Estimate the time for the call. .

12 pminwdes - b S

extrapbladipn live-(min)i]
A b»ycni given Ao -poirits

c)The cost of a call was $1.50.
~ Estimate the time for the call.

A ) minues
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The fine created by the relation y= 5~ x will intersect the line shows on the graph

above at .
¥ _\}L_
A, (3,5 o | g Y
B. (50 X |2 v
© ey 2 |7 X
D. (3,2} s lo X
3
io 4
g
g
7 Y= mx +5
6
: | | y intecceph it o
3 k""{; Pcs\"hVL slo,ae _;L?..
2
1 Trun
o : -
01 23456 78 910

The equation representing the linear relation on (he graph shown above is

@ y=05x+2 X | Vv
B, y=05k-2 o | a '
C y=2xy+4 2 |32
D y=2x-4 R




7. Polynomials ' ‘ | &
Key Words:

Polynomial: a term (or terms) whose variable(s) have whole number exponents
Terms: separated by addition/subtraction signs (monom[als binomials, trinomials) -,
e.g. 2x + 3 is a binomial :
Coefficient: the number multiplied by a variable in a term
e.g. 4a (4 is the coefficient)
Variable: an unknown that is represented by a Ietter e.g. 7n (n is the variable)
Constant: a value that does not change ( # without a variable)
_e.g.4a+ 2 (2is the constant)
Degree the exponents added together in a term
-if more than one term, the term with the highest degree is used to represent
the total polynomial e.g. 3x% + 10x*—y (this is a third degree polynomial)

T L——‘m.-_—_———_‘ i & _'..:l
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‘What does each of the following algebra tiles represent?

xR 25 ¥ 2

e
™ ',(\‘;;;f
5




oa a
fis -

x4

Write a polynomial to represent the tiles and the perimeter of each

shape. : .
%% 6 X ¥ " YR +/Ax+Ey +1
X \ . ‘
2x
X X y ¥ 2x 1
. X X 1 1
1] ! 1
1. ! 1
x ox X ‘

Circke = $x + fecieeler = )25+ y +10
Adding and Subtracting Polynomials )
-group polynomials together and collect like terms

(same variables/same exponents)

(5x% — 9x — 4) (5x2+ 3x=7) (-5y? -y —8)
+ (2x2 = 3x — 5) -‘(4x2——'x +12) - (-2y* + 7n — 3)
Fxomjax =T o XTwlx—l9 . =3yl —Fa Fy -5
2w +3
Given the perimeter, find the unknown side.
P =6w+14 (éw"“*”)—ﬂ/w%)
AW +E o end¢ 50 dird J*y_s{’
e

Multiplying and Dividing Polynomials - E}E

-multiplying: multiply numbers, add exponents on common bases
-dividing: divide numbers, subtract exponents on common bases

Simplify each of the following:

2a (3% +4a—6) 12a2b34— l gg%ﬁ
a

\

3 3 _
ba? +Ea* —)do. | 2b ~Yob
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Find the area.

Find the side length. {
4a-9 ' :

‘\‘
: 3a A= 18a° - 9a° 9a?

' @a -—f7> (Ba) |80% ~9a®

: : P4
|\ = | o =R Fa 7
; — — 20. - \

e ——————————

Given the following tiles, what was

the original expression? Draw the

outer tiles and write the polynomial

equation as well. : o

Draw in algebra tiles to represent

the following expression: 2a ( 4a - 3)
and also write a polynomial to express
the equation.

NIV YEULL R Yl e

Falia) =5 -]

[EXI (——x 1’?) = = ZXZ -r@ |

Find the perimeter and area of the shape below.
. O
d+3 - (ferimeler (cdd an sidec) e """B > T |
o~ N man (%2 = xR
-4 i"" 2ol ')’9?4‘ \_,____(_/——/
6 | 4
X a¥3y {; "y A

Ko b (A+2D y(ay dtle j.'_@...—-—-—_—-w



Two students, Robert and Jacob, simplify the expression 3(r” + 4x ~ 1) = (Zx + 53, as shown

below,

Robert Jacob l
Step1 | =30% + 120~ 3= (2r + 5) =3+ 122C 1) @r+ 53
Stp? | =3+ 12r~3-25+5. | =324 [2rm 1 - 2r o3
L Step3d [=3"+10r+2 |23 16

_

The first error made in the simplification of the expression shown above was made by

A, Robert in Step 1
Jacob in Step 1

C.  Robertin Step 2

D.  Jacobin Step 2

_ Il ENI B PR
Sl IR il

Whic: of the filkowing palyromial expressions eonld be added 1o the expression shown
above W result fn 2 sum that contains only a constant teym?

o Wi / h —xPsx—3  xB =X}

B, 4’48+ _ it *'L/X';r‘ '}’@X

o ex?m3red - + ¥ 7 LN ’f"‘j — E

D, ~dy®e e — , xR r2y -p
4 Constact B —a2-Sxmp |

| A -;c—:-;— ""'f':f"s.:" Mv} X ' boiyR =Py



The quotient of (—12x — 9x) + -x is —4x— 3. What is the value of Il?

g Answer: E - ?i

- - "'%( -3
; ,
| Legens]
| N=l I =X . =yt
'i O=-l U - st
) ?
SEATT P
N - ‘
-2x
u fgx UL LU ‘
il
| M. = -x+¢ ok |&=x
v UL e e e
W NN 2%
Which of the Tollowing polynomials rprescents the unknown cﬁ.pt‘csmm in the mode]
shown sbove?
A, X—5x
B, - +5x
C. x-5

,,v +5

8. Solving Equations
Simplify...Collect Variables...Isolate Variable (SCI)

Solve the following questions:

3(2a+ 1) — (a- 2) = 2(3a + 4) z ({_"'_1) <x_—9’°=®j. '
2 & i

(a+32 - A+ Zha +E

/5%#!#&1%9 ¥z - x+7F =18
il “5a o?x-}'},@/ F4
S’r«ﬂ% 7/0 0

- & EX =

"% = ~ | % 5 )



Inequahhes

Remember to reverse the inequality when multlplymg or dividing
by a negative to solve.

Solve and graph each according to its graphing rule. Use number lines provided.

Tx+3<52  xeR B e T SRR
4?-3 = 4 ¢ £ 787 b
<449
— xe] gt 2 i
7z y § ¢ F 7 7 s
xe&f

2(5-3b)<-Tb+2  xeR
) N g B F E

-t b« -Zé +.2
xel >
A A e 2
)b+bL£

/ ~!0

==

.’/-é ¥ .’02 -l D} @ 2 Y

. Z xe‘g__ ,

ix ’.._; ~20s  ThES  That  ~0g(C
- xel

| = . .

x 2 =7 : a'iﬂii’f'f_
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Members of a recreation centre pay a one-time registration fee in addition to a fixed monthly
fee of 315, The following table shows the total amount paid to be a member of the centre for
a certain nunber of months. : Lo} A ke e

60 =127

S ILORE S 6 $165 - TEb

b

= )2¢

-

v g5 582 2 2080 12 5555 IH:—?’J’)

Numerical Response

According to the information above, what is the cost of the one-time registration fec?

|tﬁmnnsvmer: L._ 7 5 dollars

An inequality is shown on each namber line below:,

Which expression represents the values (n) that are part of both mequalitics?

A, -1gn=1

@451@@'1

¢, —1<n<l
D -i<nxl

e fee

B o mntinaid
e




Lw‘d
.D=m1 H=~r :“ﬁ'z
/
T deft ﬂpdﬁgla:sidemfma cquation are repeesented befow, - ? & = [ Y R
. +K X
Tafiskle Righe side
I Fi
| o ] | — | e i
| 0O | ——1m : fg* FY
The solation o the egusmion above e be. represented Dy iﬁ’e _“,gf '
¥
= N it
e =

. I - B8

. I = [

D, W = OO

Tara, Jennifer, and Mindy donated some money to a charity. Jennifer donated twice as much
as Tara, and Mindy donated $10 less than Jennifer.

If the total amount donated to the charity is $50, then how much money did Tara donate?
P e T

A. 86
B. §8

ERGR

D. $24

T/GU’_QS denchorn
Ten's  denehen  ZFn
Hindy ls  Sloniahen 2n—10

S -)

.-f—
§in = 4O
T 7
n=Ix

+i6
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Which pair of expressions below are equivalent for all values of x7

A. \-3x 4x2+2and4x2—2@“><
Bx+4x* + 2 and 2~ 3x + 4x*
C. @-42+3rand-42+3xC2) x

D. 24Pk 3xand 342 x

Nathan completed a 5 km run on his first day of training for a cross-country race, He
_increased the length of his next training runs by 1.5 km each time.

. Which of the following equations could be used to determine the distance (d) that Nathan

ran on each training run (r)? o do oen (1L
. ) c “
An d: 1.5?’ ’\)dbcsn Y " rn;{& eDLh' (I.ln. ,S'}’ (I.M’L
. &
B, d=sr—~rer ity & 2 un
C. d=15+35r |
d=35+15r |

The relationship between two variables is given in the equation 35+ [5n=A,

Which of the following situations could be represented using the equation above?

A. The price of a caterer for a party is $35 for each dmner ordered and $15 for each
dessert ordered.

B. Thebill for fmmmg g painting is $35 for each square meter of glass required and
$15 for the wooden frame.

C. The fee for a computer consultant is $15 for an administration charge and $335 for
each hour worked.
The cost of silk screening a design on T-shirts is $15 for each shirt created and
a $33 design fez. 1y

lot
qora’r"v




The value of x in the equation %5 +1=726 is._ / ﬁ? §
-y -

S T A e i
543218 F 2 3 4 5

(111 x> 32
_ 4 v ; : ol —r -
ek w3 w3~ L 2 3 4 3
v x &2

The two disgrams shown above that hoth represent the ineguality x > 3 are numbered
Tand IIT
- B, ITandIV
C. TandIl
D HandIV

How
+ 0.59 |
R Pends e bigser thet 0,25 kot Jess ther O8

The value of x in the equation 2{x + 5) ~ 12=50 is

A 24 Ax Flo—]a =D
(By 26 < x /Za’s 40

C. -f; +2

32
D. 36 | iir:ggg
% = b |
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The firl lowing disgmaen meprescals HMMW \{ A\‘M"

7

LRl =
%\,p‘r’ﬁw &

nbe = solid

eylirdel

fel) :J

W lalehr of thee Rolbombug eguations cocrectly represonts the refatonghls betwseen saime of tie
wbfucys shonwn b the dingzam above?

X: _00% —0,05Y Vgt
., _1 - i
Y - -2 L f"’d

a\bﬁ/

—

§
3
Z: —--4-5- —Z, 7S o

Which of the following inequalities represents the rational numbers shown above?

A ¥<Z<X
B. Y<X<?Z
C. Z<X<¥Y

Z<Y <X

=t



Word Problems
1. Include LET and THEN statements. 2. Write an equation.
3. Show work to solve (SCI}. 4. Include a sentence.
5. Verify answer.
‘ 1. The sides of a triangle are 3 consecutive numbers. It's perlmeter is 54 cm. How

! long is each side? . _ ey

| ﬂ At3 =5 | JFHEHT
n/ \n+t Zn P ,j }‘7‘; }g£ )ﬂ /ﬂ: 4
nia 3n =5}
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2. Ajar contains $36.25 in dimes and quarters. There are 250 coins in the jar. How
many quarters are in the jar?
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M’Works ina cIothlng store He earns $1925 a month, plus a commission of
‘IO° of his sales. One month Steve earned $2725. What were Steve's sales?
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4. Alarge pizza with tomato sauce and cheese cost $7.50 plus $1.50 for each
additional topping. A customer orders a large pizza and is charged $16.50. How
many toppings did the customer order?
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9. Circle Geometry

- - 1

Key words: tangent, chord, inscribed angle, central angle, subtended

11 Solve for each of the unknown values, By “/‘30‘#'3-'{
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In the diagram below, x represents the approximate distance across a circular Iake.
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What is the approximate area of the lake, to the nearest square kilometre?

A, 599 km? /ﬁ; =7 pe

>

. <.
B. 272km” A_: 2, )¢/ (é,?@;?f)??'

) 150kmj A=Al g2 e377? 76 ’?D

A= Y9 8ErIYET

The: geing shoven: bedow is 30 em b dizmeter sod Dangs by 2 chies foorm 2 nail.
“FPhe 1okl length of the chein fs 18 cm. The lengthsof chain on each side af the il ure equak
torench otler and el 8 tangent wo de pong,
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Note: The digrram shown sboie has 150f been drawn o scle.

How far sbove the topof the g i5 the nail, to te nearest otk of 2 coutimesne]

A I3cm
15cm
C. 1I0om



A diagran: of a swimming pool is shown below. The dotted circle represents floating buoys,
The pmi has a diameter of 10 metres,
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The shortest distance from the buoys to the edge of the pool is
K ‘ Abi I T
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Note: The diagram shown above has not been drawn to scale. The letter G’ represents the
centre of the gircle.

It the line shown above is 2 tangent to the circle, then the meagure of angle x is

A. 1w
B, 115°
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The letter @ in the diagram below represents the centre of thecircle.

A B

Note: The diagram shown above has not been drawn (0 gcale.

1f the sum of £AOB and LACRE is 75°, then £LACE equals

@ ;f,’ X+ X =7
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10. Similarity and Symmetry

Key Words: scale factor, similar, line symmetry, rotational symmetry,
order of rotation, angle of rotation

" .a scale factor less than one is a reduction /
1A hee

-a scale factor greater than one is an enfargement
¢ g0 bk o

These are congruent triangles. jole guestrsn,

Q

kad




What is the scale factor of these two similar triangles?

X Yy P 8 om Q Seale actey
4 cm 7 |
6 cm 9 cm \/ .—LL -
R 4 =
Z .
Determine the scale factor for this reduction Find the length of line XY.

as a fraction and as a decimal.

45cm .

' |Reduction|
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A surveyor wants fo determine the width of a
river. She measures distances and angles
on land, and sketches this diagram.

What is the width of the river, PQ?

20m 8




Line Symmetry
.if a shape can be folded onto itself in a mirror image it has line

symmetry

Rotational Symmetry
-if a shape can be rotated around a point to match up with the
original perfectly, it has rotational symmetry '
_order of rotation refers to the number of times a shape can
rotate to orient onto the original perfectly
-angle of rotation refers to the number of degrees through which

a shape rotates to orient onto the original perfectly

Draw the lines of symmetry in each of the following tessellations.
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|dentify the triangles that are related to the shaded one by a line of
reflection. Draw the line and also describe its location e.g. y=5
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What is the order and degree of rotational symmetry for this regular pentagon?
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T.
For each pair of rectangles, determine whether they are related by ¢
symmetry (line and/or rotational).
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The 2-D shape shown below is votated about its centre. . ‘
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J‘,J; What are the order of rotational symmetry and the angle of rotation of the 2-D shape?
1' Order of
3 | Row | rotational symmetry | Angle of rotation
‘| A, 1 180°
) E. 1 360° (
o (c> 2 180°
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il D, 2 360°
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Nuomerical Response

, FHow many lines of symmetry does the diagram shown above have?

Answer:

lines

Teiangle JRL, shoven below, ndergoes the following iransformations:

« o 9° clockwise rotation about vestex L
v @ trunslation of 3 weits right and 4 units up
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Which of the following rows represents the codered pair for each vertex after hoth

the trangfoemations described above have been completed?

Row I K" L
A. {1, 1)y - {1, 4} {3, 4)
B. {1.1) {1,-2) (=172}
C 4,3 (Z, % (2, 0)
(D.) 3.4} V a4/ .1 v




Four-sided Polygons
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Which of the polygons above is proportiona] to the shaded rectangle?

A
B, 2
@
b 4

11. Data Analysis and Probability

Nina and Sarah observe that 6 of their 10 female classmates are shorter than 160 cm, Nina
concludes that of the 410 students in their school, 246 are shorter than 160 cm, Sarah
believes Nina's conclusion cannot be supported by her observation.

Which of the following statements best supports Sarah’s belief?

Nina’s survey sample contains only female students.
B. Nina’s probability calculation is incorrect.
C. Nina did not use a proper questionnaire,
D. Nina completed her survey too quickly.




Ethan conducts a survey o determine the demand for an outdoor skating rink in his -

community.

Ethan can best minimize the bias in his survey by collecting data from people who

are different ages

B. live in different cities x
C. participate in figure skating X
D. visit the rink at the same time each day x

The student coancil of un'eyf:d 120 out of 250 Grade 10 students Om}
to determine which of three animals should be the school’s new mascot. The results of
the survey are shown below.

Student Responses to Mascot Survey

I 1

Rib) 40 50 60
Number of vofes

What potential bias exists in the data collection for this survey?

X A. 'The sorvey question is confusing.
X B. The survey 100k 100 Tong to complete.
The sample does not represent the population.

| x . The participants’ cultaral beliefs were not considered. o
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